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QUESTION 1

You want to display 5 percent of the rows from the SALES table for products with the lowest AMOUNT_SOLD and also
want to include the rows that have the same AMOUNT_SOLD even if this causes the output to exceed 5 percent of the

rows.
Which query will provide the required result?

A. SELECT prod_id, cust_id, amount_sold FROM sales ORDER BY amount_sold FETCH FIRST 5 PERCENT ROWS
WITH TIES;

B. SELECT prod_id, cust_id, amount_sold FROM sales ORDER BY amount_sold FETCH FIRST 5 PERCENT ROWS
ONLY WITH TIES;

C. SELECT prod_id, cust_id, amount_sold FROM sales ORDER BY amount_sold FETCH FIRST 5 PERCENT ROWS
WITH TIES ONLY;

D. SELECT prod_id, cust_id, amount_sold FROM sales ORDER BY amount_sold FETCH FIRST 5 PERCENT ROWS
ONLY;

Correct Answer: A

QUESTION 2

Which three are true about privileges? (Choose three.)

A. A combination of object and system privileges can be granted to a role.

B. All types of schema objects have associated object privileges.

C. Schema owners can grant object privileges on objects in their schema to any other user or role.

D. Only users with the DBA role can create roles.

E. Only users with the GRANT ANY PRIVILEGE privilege can grant and revoke system privileges from other users.
F. Object privileges granted on a table automatically apply to all synonyms for that table.

Correct Answer:. ACF

QUESTION 3

Examine the description of the SALESL table:
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Name Null Type
SALES_ID NOT NULL NUMBER
STORE_ID NOT NULL NUMBER
ITEMS_ID NUMBER
QUANTITY NUMBER
SALES_DATE DATE

SALES?2? is a table with the same description as SALES1,

Some sales data is duplicated In both tables.

You want to display the rows from the SALES1 table Which are not present in the SALIES2 table.
Which set operator generates the required output?

A. SUBTRACT

B. INTERSECT

C. UNION ALL

D. MINUS

E. UNION

Correct Answer: D

QUESTION 4

You execute these commands successfully:

CREATE GLOBAL TEMPORARY TABLE invoices dgtt (
customer id INTEGER,
invoice total NUMBER(10,2)

) ON COMMIT PRESERVE ROWS;

INSERT INTO invoices gtt VALUES (1, 100);

COMMIT ;

Which two are true?
A. You can add a foreign key to the table.
B. When you terminate your session, the row will be deleted.

C. To drop the table in this session, you must first truncate it.
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D. You can add a column to the table in this session.
E. Other sessions can view the committed row.

Correct Answer: BC

QUESTION 5

Which two are true about savepoints? (Choose two.)

A. After issuing a savepoint, you can roll back to the savepoint name within the current transaction.

B. They make uncommitted updates visible to sessions owned by other users.

C. You can commit updates done between two savepoints without committing other updates in the current transaction.
D. A ROLLBACK TO SAVEPOINT command issued before the start of a transaction results in an error.

E. They make uncommitted updates visible to other sessions owned by the same user.

F. After issuing a savepoint, you cannot roll back the complete transaction.

Correct Answer: AD
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